
Fehlerquellen

E:   (a+b)^2= a^2+b^2 newline O: (a+b)^2=
a^2+(ab)^2+b^2 newline M: (a+b)^2=
a^2+2ab+b^2 newline D:  (a+b)^2= 2a+a^2 b^2 +
2b newline newline newline
L: {1} over {3} +{1} over {5} ={1*1} over {3*5}
={1} over {15} newline V: {1} over {3} +{1} over
{5} ={1+1} over {3+5} ={2} over {8} newline A:
{1} over {3} +{1} over {5} ={5+3} over {3*5}
={8} over {15} newline I: {1} over {3} +{1} over
{5} ={1*1} over {3+5} ={1} over {15} newline
newline newline
A: {1+a} over {a}  = {1} over {a} * {1} over {a}
={1} over {a^2} newline
I: {1+a} over {a}  = {1*a} over {a+1}  ={a} over
{a+1} newline
T: {1+a} over {a}  = {1} over {a}  +{a} over {a}=
{1} over {a}  +1 newline
Z: {1+a} over {a}  = {1} over {a}  +{a} over {a}=
{1+a} over {a+a}   = {a+1} over {2 a} newline
newline newline
H: (-y)^2=(-y)*(-y)=(-1) y *(-1) y =(-1)  *(-1) *y*y =
1*y^2=y^2 newline R: (-y)^2=(-y)*(-y)=(y-1)  *(y-1) 
=y*y-2y^2+1 = 1-y^2 newline T: -y^2=(-y)*(-y)=(-1)y
*(-1) y =1+y*y = 1+y^2 newline A:
-y^2=-y*y=-1+y^2-2y   =1+y*y = (y -1)^2 newline
newline newline
E: -z-(-y)=(-1)*z-((-1)y)=(-1)*z+(-1)*((-1)y)=
(-1)*z+(-1)*(-1)* y=  (-1)*(z+(-1)* y)=   (-1)*(z- y)=  y-z
newline  G: -z-(-y)=(-1)*z-((-1)y)=(-1)*z(+1)y = (-1)*z*
y= - yz    newline A:
-z-(-y)=(-1)*z-((-1)y)=(-1)*z+(+1)*y = (+1-1)+z+ y= 
y+z    newline I: -z-(-y)=(-1)*(z-y)=(-1)*z-(-1)*y =
(-1-1)+z+ y=  y+z -2   newline  newline newline
E:  {u} over {(1-s)(1+s)+s^2-1} ={u(1-s)(1+s)} over
{s^2-1}  ={u(1-s^2)} over {s^2-1} =u * ({(1-s^2)}
over {s^2-1}) = u * ({(-1)(s^2-1)} over {s^2-1}) = u
* (-1) = -u newline  
V:  {u} over {(1-s)(1+s)+s^2-1} ={u} over {(1-s)^2
+s^2-1}  ={u} over {1-s^2 +s^2-1}  = {u} over {0} 
= nicht definiert  newline  
Z:  {u} over {(1-s)(1+s)+s^2-1} ={u} over {(1-s)^2
+s^2-1}  ={u} over {1-2s+s^2 +s^2-1}  = {u} over
{-2s}    newline  
M:  {u} over {(1-s)(1+s)+s^2-1} ={u} over {1-s^2
+s^2-1}  ={u} over {1-1+s^2 -s^2}  = {u} over
{0}= nicht definiert    newline  newline newline
T:  5<-10<-22 newline  A: -13<-7<-2 newline  I: 
5>-10>22   newline O:  -13>-7>-2   newline  newline
newline
N:  Term? a-by=cx          newline  R: Gleichung?
11cz+x-2a newline  T: Term? 5-10y+2z   newline  S:
Gleichung ?  3-7+5a^2   newline  newline newline

X:  sqrt{x^2-2xy+y^2}=+-x+-y         newline  I:
sqrt{x^2+2xy+y^2}=+-(x+y)     newline  E: 
sqrt{x^2-2xy+y^2}=+-(x+y)   newline  S: 
sqrt{x^2+2xy+y^2}=+-y-+ x    newline  newline
newline

K:  -(r+t)=(-1)*r+(-1)*t=-r-t        newline  I: 
-(r+t)=(-1)*r+(+1)*t=-r+t      newline  D:  
-(r+t)=(-1)*r+(-1)*t=+r-t   newline  A:  
-(r+t)=(+1)*r(-1)*t=-rt    newline  newline newline

E :(a+b)2=a2+b2

O :(a+b)2=a2+(ab)2+b2

M :(a+b)2=a2+2ab+b2

D :(a+b)2=2a+a2b2+2b
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I : 13 +
1
5 =
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1
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A : 1+a
a =

1
a ∗1

a =1
a2

I : 1+a
a =1∗a

a+1 =
a
a+1

T : 1+a
a =1
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a =1
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Z : 1+a
a =1

a +a
a =1+a

a+a =a+1
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H :(−y )2=(−y )∗(−y )=(−1)y∗(−1)y=(−1)∗(−1)∗y∗y=1∗y 2=y 2

R :(−y )2=(−y )∗(−y )=(y−1)∗(y−1)=y∗y−2y2+1=1−y 2

T :−y 2=(−y )∗(−y )=(−1)y∗(−1)y=1+y∗y=1+y 2

A :−y 2=−y∗y=−1+y 2−2y=1+y∗y=(y−1)2

E :−z−(−y )=(−1)∗z−((−1)y )=(−1)∗z+(−1)∗((−1)y )=(−1)∗z+(−1)∗(−1)∗y=(−1)∗(z+(−1)∗y )=(−1)∗(z−y )=y−z
G :−z−(−y )=(−1)∗z−((−1)y )=(−1)∗z(+1)y=(−1)∗z∗y=−yz
A :−z−(−y )=(−1)∗z−((−1)y )=(−1)∗z+(+1)∗y=(+1−1)+z+y=y+z
I :−z−(−y )=(−1)∗(z−y )=(−1)∗z−(−1)∗y=(−1−1)+z+y=y+z−2

E : u
(1−s)(1+s)+s2−1

=u (1−s)(1+s)

s2−1
=u (1−s2)

s2−1
=u∗((1−s2)

s2−1
)=u∗((−1)(s

2−1)

s2−1
)=u∗(−1)=−u

V :u
(1−s)(1+s)+s2−1

=u
(1−s)2+s2−1

=u
1−s2+s2−1

=u
0 =nicht definiert

Z : u
(1−s)(1+s)+s2−1

=u
(1−s)2+s2−1

=u
1−2s+s2+s2−1

=u
−2s

M :u
(1−s)(1+s)+s2−1

=u
1−s2+s2−1

=u
1−1+s2−s2

=u
0 =nicht definiert

T :5<−10<−22
A :−13<−7<−2
I :5>−10>22
O :−13>−7>−2

N :Term?a−by=cx
R :Gleichung ?11cz+x−2a
T :Term?5−10y+2z
S :Gleichung ? 3−7+5a2

X :√x2−2xy+y 2=±x±y
I :√x2+2xy+y 2=±(x+y )

E :√x2−2xy+y 2=±(x+y )

S :√x2+2xy+y 2=±y∓x

K :−(r+t )=(−1)∗r+(−1)∗t=−r−t
I :−(r+t )=(−1)∗r+(+1)∗t=−r+t
D :−(r+t )=(−1)∗r+(−1)∗t=+r−t
A :−(r+t )=(+1)∗r (−1)∗t=−rt


